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a = 1,5 b = −2,5

� 0,75 � −1,75 � −1,25 � −3,5

• x2 − 6x− p = 0 p

� p ∈ [−9; +∞) � p ∈ [9; +∞) � p ∈ (−∞; 9] � p ∈ (−∞;−9]
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• (x; y)

∣∣∣∣ x − y = 0
x2 + y2 = 12

� xy = 0 � xy = 2 � xy = 6 � xy = 12

• 2x
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2x − 1
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� 2 � −2 � 1 � 0
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• √
4x − 3 = 5

� (−∞; 3) � [3; 6) � [6; 8) � [8; +∞)

• 3x + 3x+2 = 30

� 1 � 2 � 0 �

• log5 2 = m lg 40 =
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• 4x > 5

� (45; +∞) � (log5 4; +∞) � (54; +∞) � (log4 5; +∞)

•
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√
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• y = −x2 + 2x + 7 x∈(−3; 2)

� 7 � 8 � 0 � 2

• sin 2ϕ = b ϕ ∈ (0;
π
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) cos ϕ + sin ϕ
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• {an} a3 = 16 a7 = 4

� 20 � 6 � 10 � 8
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• ABCD AB = 4 BC = 3 cos <ABC = −1
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� x2 + 7x − 8 ≤ 0

(0; 1]

� {an} a1 = 1
a4 = 64
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� ABCD

A(1; 2) B(4; 1) C(6; 3) D

(3; 4)

� log4(x + 9) > 2

x ∈ (7; +∞)

� 2 sin2 x + 2 cos 2x = 1

x = ±π

4
+kπ, k = 0,±1,±2, . . . x = ±45◦+180◦k, k = 0,±1,±2, . . .

� lim
x→0
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� f(x) = x3 − 5x2 x∈(−∞; +∞)
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